{ ZoaV BN }

PARTS LIST

8 M|
RJ705-G
RJ705-WG

otex



RHULNo

©©E®EEEEMELTLANLNLTADOD DDA DDA DRDR®EN S o

N —Ry I REFREDI)
FY—Ry I REFRED2)
FY—RV I XERED3I)
JL—LER
ETEEERED
ETEEER(ZD2)
IVOUVBRED)IVY Y
IVOUER(ED2)I77-
IVOVBREDI IV UN-R
A L EAC AN VIELL VY]
A L EACIDIYEVIEDY SV
EERBRED)TUNY
EEER(ZED2) V19TV
BEBR(ZED1)YI3I7E-4
BEBE K (ZM2)avt0-7
BB R (FD2)ava—7(W)
BLEBR(ZDI)INYTY
BEMR (ZD4) V3124
BEBR(ZD5) V)Y
BEMBKR(Z06)70F
BLEER (ZM6) 70K (W)
BEBER(ZDT)SWRAT-
BEER (T D) BRI
BEMBR(ZD9) ERHR2
BLERR (ZD10)BL#R3
BEBER(ZD11)ELiRS
MERZERE R (ZD1)T UM
NEZEERE &R (ZD2)TUM)2
MEREZ BB &R (ZD3)7L—F
MEREE BB &R (ZD4) hiv -
NEREE & B & (2 D5) ¥ananynF
N EREE B B &R (2 D6) Y afub
AN—BR(ED)R T AN -
HAN—BE &R (ZD2) M F—A-R(L)SET
AN—BR(ZD3) Y4 F1—UA-A(R)SET
HN—BE&R (ZD4) NN F—»(FOUNSET

HN—BAR (ZD5) X —FF1—Ub)YTSET1/2
HN—BR (ZD5) X h—FF1—Ub)YTSET2/2

HN—BER (ZFD6) Iy Uh = SET 1
HIN—BER (FD6) IV Uh = SET 2
H/\—B8{% (FD8) hyn—5hN—SET

RJ705-G. RJ705-WG
RJ705-G. RJ705-WG
RJ705-G. RJ705-WG
RJ705-G. RJ705-WG
RJ705-G. RJ705-WG
RJ705-G. RJ705-WG
RJ705-G. RJ705-WG
RJ705-G. RJ705-WG
RJ705-G. RJ705-WG
RJ705-G. RJ705-WG
RJ705-G. RJ705-WG
RJ705-G. RJ705-WG
RJ705-G. RJ705-WG
RJ705-G. RJ705-WG
RJ705-G

RJ705-WG

RJ705-G. RJ705-WG
RJ705-G. RJ705-WG
RJ705-G. RJ705-WG
RJ705-G

RJ705-WG

RJ705-G. RJ705-WG
RJ705-G. RJ705-WG
RJ705-G. RJ705-WG
RJ705-G. RJ705-WG
RJ705-G. RJ705-WG
RJ705-G. RJ705-WG
RJ705-G. RJ705-WG
RJ705-G. RJ705-WG
RJ705-G. RJ705-WG
RJ705-G. RJ705-WG
RJ705-G. RJ705-WG
RJ705-G. RJ705-WG
RJ705-G. RJ705-WG
RJ705-G. RJ705-WG
RJ705-G. RJ705-WG
RJ705-G. RJ705-WG
RJ705-G. RJ705-WG
RJ705-G. RJ705-WG
RJ705-G. RJ705-WG
RJ705-G. RJ705-WG

R—TNo

— ek ek ek ek el el ek ek ek
©® ® 4 5 O PR e DD ©®NO O WN =

DA W W W W W WOWWWWNDNDNDNDNDDNDNDDNDDNDDNDDN
— O © 00 N O G A WON —- O © 00Jd O G~ whNhN —= O



SNILEER (FD1)1/2
SRIVER(FD1)2/2
SNILEE R (FD1)1/2(W)
SARILER (FD1)2/2(W)
TEmBE®RED)

T mERED2)

& mBEARW)

OPTRE&R(ZMD1) ®IR47°AE 1/2
OPTRAR(ZMD1) K IA(7°OK 2/2
OPTREA&R(ZMD2) NPMYTSET
REPBE®R(ZMD1) 70K
REPEA{R(ZM2) £ IA47°BK (W) 1/2
REPREA{R(ZM2) £ IA47° 0K (W) 2/2
REPBA{R(Z®M3) 1v+A—7
REPRE{®R(Z®M4) 1v/bA—5W
H—EXER(ZFDNELHIEL M
H—ERER(FDNEEEITRZW)
H—EREF(ZD2DRTV-ZEH
H—EXEF(ZDI)EHRE

OFEAEI—K(ZDINT

RJ705-G

RJ705-G

RJ705-GW
RJ705-GW

RJ705-G

RJ705-G. RJ705-GW
RJ705-GW

RJ705-G

RJ705-G

RJ705-G. RJ705-GW
RJ705-G

RJ705-GW
RJ705-GW

RJ705-G

RJ705-GW

RJ705-G

RJ705-GW
RJ705-G. RJ705-GW
RJ705-G. RJ705-GW

~R—INo
42
43
44
45
46
47
48
49
50
51
52
53
54
55
56
57
58
59
60

EHmI—FT2H(OO000-0O00-000-00: 00 [FZEFRI—FZERLTVET,

1):28—2f45

2) :55— b= "2y

3) : 32— TMHEAZEFL 7 799
4) :01—Hhv—K74b



1. FV—Ry I RBERED1)

#s #EI—k 0 i B F5 [k g #& /N5 B fffi
1 0690-110-200-2 G.BOX ASSY 2
2 0774-110-011-0 Gr—aL) 2
3 0690-110-013-0 G7—-A(R) 2
4 V210-250-603-0 K INS) M6X30 18
5 V523-100-501-8 A{19E(BY1) 5X18 4
6 V740-110-300-7 A=l SC10307 2
7 0774-110-013-0 7709 K IWMM8X12) M8X12 2
8 0774-110-043-0 Y=y %(8X17) 2
9 3560-102-029-1 Famaty 2
10 0774-110-015-0 B 2
11 0774-110-016-0 R-B-B(6200ZZCM) 6200ZZCM 2
12 0774-110-017-0 R-B-B(6900ZZCM) 6900ZZCM 2
13 V705-140-030-0 CHabA0(7 ) 30 2
14 0774-110-018-0 St MLV 2

SHEE. (FDNFE2~(ZD2)EEL,



1. FY—Ry I XEFRED2)

1514
13
12
75 Hama—k @A Bz g % /NFEE
1 0690-110-014-1 hv8%718(15) 2
2 0776-110-012-0 V2 ENG 2
3 0776-110-013-0 *—(4X4X16.5) 2
4 0774-110-025-0 R-B-B(6200CM) 6200CM 2
5 0774-110-026-0 R-B-B(6202CM) 6202CM 2
6 4210-950-201-0 }9774(30) 2
7 V600-110-600-5 RB.B 6005 2
8 V600-110-600-6 RB.B 6006 2
9 0762-110-012-0 Y—E¥y7°(10) 2
10 0690-110-210-2 HIY%IMT79)COMP 2
11 0690-110-220-0 : 28 &4l 17°COMP 2
12 3740-111-040-0 7°91(25X35X30) 2
13 V744-125-350-7 TANVo-N TC25357 2
14 0387-182-302-0 #'9Y UY—I(25X35X1.6) 2
15 0690-110-015-0 VRN 4 AI(IRTW-35) 2
16 0690-110-011-0 :28 KANN{7°74 2
17 0775-120-013-0 Y=k WMMBEX20) 16
18 V401-160-006-0 S.W 6 16



1. FY—Ry ) XEFRED3I)

7E Hama—k e 0 B2k i /NFEE
1 0382-211-221-0 :28 CHAINAT FAH %43 2

2 V201-461-002-0 ) T A1 M10X20 4 9T
3 V401-160-010-0 SW 10 8

4 0690-110-300-0 :28 % ¥ik"yJRAT—COMP 2

5 V201-461-002-5 ) 1A M10X25 4 9T
6 0339-181-391-0 750V K ILM8X16-6.8 6

7 0690-120-011-0 :28 &£4ILA7° Bk 2

8 0317-120-012-0 £'(10X54) 2

9 V411-260-010-0 IELWIEd 10 2

10 V500-762-501-5 ey 2.5X15 2

11 8935-001-062-0 MY 2



3. ETTREHRZR(ZNDI)

Vi s EHBma—F BB R B #h B B = /NS
1 0387-330-011-0 :28 74F ILA—5(180) 2

2 V705-140-047-0 CHab AT T) 47 4

3 0690-310-013-0 £V UY—I(20X47X1.2) 2

4 V744-120-470-7 A=l TC20477 2

5 V600-110-620-4 RBB 6204 4

6 0690-310-011-1 0—7%7h 2

7 V744-120-300-7 A=l TC20307 2

8 0690-310-012-1 £ UY—I(20X30X1.6) 2

9 V705-140-030-0 CH4MI(TT) 30 2

10 0690-310-014-0 A—7Y%v7M5—-(J) 2

11 0690-310-210-0 A-7Y%7M7—(7F)COMP 2

12 3567-401-002-0 EXAavn-7E 0% % 4

13 V401-160-010-0 SW 10 4

14 V201-461-002-5 YT WA M10X25 4 9T
15 0337-310-210-0 7YY 120ASSY 8

16 0337-310-220-1 7YY120COMP 8

17 0337-310-211-0 70 H(12037) 8

18 0337-310-212-0 AN -A 16

19 0337-310-213-1 ¥1y7'ya 16

20 0337-310-214-1 A=l 16

21 3768-361-029-0 A-4% Y-b A0 % 16
22 0339-315-012-0 Fik JLMM10X1.25X20) 16 9T

SHE15X, HB16~2028T,

_5_



2. 7L—LBE%

"qE EB&maI—F EBEm A Fh B i /NFEE
1 0690-210-200-3 :28 7L—LCOMP 1
2 0690-221-200-0 :28 #' =47 703COMP 1
3 V201-261-005-5 my T AN M10X55 2
4 V411-260-010-0 INXYH A 10 2
5 0412-204-004-0 UtyhM10) 2
6 0317-120-012-0 £'v(10X54) 2
7 7957-501-004-0 AYEV(100) 2
8 0690-220-013-0 K'Yy L(20X10-M6) 2
9 3789-151-006-0 w307 2
10 0690-220-011-0 Fvy7°(30X32X24) 2
11 0690-220-012-1:28 IVY Vhn'— 1
12 0772-530-012-0 F5R3%Y°(M8X20) 4
13 V360-260-008-0 $IN 2YFFIb 11 M8 4
14 0690-230-011-0 :28 7L—Lhn'— 2
15 0774-110-013-0 7509 K ILMM8X12) M8X12 8



3. ETEEHR(ZD2)

"E B @ma—Fk BB m A #h EE g = /NS E iR
1 0690-320-210-0 :28 #'{FL—IL.COMP 2
2 V201-261-216-0 =y KT W M12X160 4
3 V401-160-012-0 SW 12 4
4 0661-173-013-0 7Y% (12X40X03) 4
5 V304-260-012-0 an ek 2%1IM12 4
6 0314-330-011-0:28 74 ILA—7(200) 2
7 0690-330-011-0 74N 79470166) 2
8 V704-140-020-0 CHab A7) 20 4
9 V600-110-620-4 RBB 6204 4
10 V705-140-047-0 CHab AT T) 47 4
11 V742-120-470-6 HAW-I VC20476 4
12 0330-203-003-0 :28 &9 UhF- 4
13 V767-400-000-0 JIVAZYT W A-M6F 2
14 V304-260-012-0 I sk 291 M12 4
15 V401-160-012-0 SW 12 4
16 V411-260-012-0 IES S 12 4
17 0690-340-200-0 :28 74+3AyFCOMP 2
18 0550-340-220-1:28 7"Y¥1AYF COMP 2
19 0550-340-230-1 74N 7EYMK VFCOMP 2
20 V303-260-020-0 In eIk M20 2
21 0690-350-011-0 /0—3(150X60X43) 2



4, TV

DUBREDDIV Y

L=200

OF-+
14

N

\

3

7E Hama—k e 0 B2k g % /NFEE
1 0690-410-200-1 I U(356777) 1

2 V363-260-008-0 AN GHIN RYEFYR 291 M8 4

3 V231-360-803-5 7599 K Ik M8X35 2 7T

4 3918-514-001-0 JE*—F1(200) 1

5 0376-625-011-0 ARYMLLN = 1

6 0690-410-011-0 r=7" I (AAy kL) 1

7 0690-410-016-0 £3'F1—-7°(7X900) 1

8 V411-260-006-0 IELWIEd 6 1

9 V120-266-001-6 7°3AFA IRY(S) M6X16 2

10 0690-415-430-0 :32 n{79441F(L)COMP 1

11 3913-523-012-0 HLARR WIMEX12(8944) M6X12 2

12 0771-441-013-0 p7A329°(M6X14) 1

13 V360-260-006-0 VSHE VES W 11 M6 1

14 VRN 1 1YY VR



IO UBEBR(ZED2)V75-

23
Al

Ema—k

0 & A 15

/NFEE

[e ol N e ) Gl WN =

—_
o ©

_ = = =
gl WwN =

N — e
O © o d o

NN DN
W N =

0690-415-310-1 :
0690-415-320-0 :
0690-415-330-0 :
0690-415-013-2

0690-410-220-1 :

V210-360-602-0
V211-360-802-0
0690-410-230-0 :
V211-360-802-0
0690-410-250-1 :

0690-415-012-0
0690-415-210-0 :
V211-360-802-0
3913-523-012-0
0690-415-220-0 :

0690-415-230-0 :
0690-415-011-1 :
0690-415-410-0 :
0690-415-420-0 :
0690-415-021-0 :

V361-260-006-0

32
32
32

32

32

32

32

32

32
32
32
32
32

I%1°4(703)COMP
9Fhn —(F)COMP
9Fhn"—(R)ICOMP
SV D1z ACNE:))
¥75—AT7—COMP

i IVMSP)

AN 4K IWMSP)
¥77—-M)YCOMP

N4 WMSP)
¥77—hN—AT—(YI)COMP

ATULAN UK (23-35)
¥77—hn"—(703)COMP
I 4R IVMSP)

T LAAR IWFMEX12(B5H4)
Y22 U(703)COMP

¥77—hn"—(¥4)COMP
YRRINU(R)
I¥n'{hn'—(703)COMP
IEN (AN —(I)COMP
IENA4HN=(D1/3)

VL VESWI
N77—
N Ay

M6X20
M8X20

M8X20

M8X20
M6X12

21M6

e e

[T G —y

1
1

IVY VEIRER &
I REIAEER &



A4 TR EDI) IV UAN R
I
6 |

75 H@ma—Fk B a4 E% {i& /NSEEE i
1 0690-421-200-0 :28 I UA—R(A)COMP 1

2 0690-420-012-0 :28 A—Af%anyt¥ 1

3 V211-360-802-0 I 4R VMSP) M8X20 2

4 0690-420-230-0 :28 N'9FA—R(24V)COMP 1

5 0690-422-270-0 :28 N'yTYY4703(12V)COMP 1

6 0372-431-014-0 NyT by 1

7 V211-360-801-6 N4 IWMSP) M8X16 8

8 0690-420-240-1:28 IV VA=AV TYCOMP 2

9 0166-320-021-0 7°1(20X23X20)DU 2

10 V362-260-008-0 INGHIN YRR 191 M8 4

11 3567-401-002-0 E¥Aav0-3t"U% 0% 2

12 V401-160-010-0 S.W 10 2

13 V201-461-002-5 mpi T[N M10X25 2 9T
14 0690-422-250-1 :28 YY4°M)Y45703COMP 1

15 0675-320-011-0 759K LMM10X25) M10X25 3 7T
16 0776-330-013-0 # 1 #(10X34X3.2) 3



4. TR (ZDA) 2030509

6
5

7E Hama—k BB a4 R B2k g % /NFEE
1 0690-431-200-1 F2374809(11.1)ASSY 1
2 0690-431-210-0 :01 £YY374,4(11.1)COMP 1
3 V411-260-008-0 IELWIEd 8 1
4 0403-102-013-0 Y=Lk ILR8X16 1
5 0673-421-011-0 V73 1
6 0690-430-011-3 *v97°(JVY=9) 1
7 0690-430-012-0 71—Il4 =Y (RJT700) 1
8 0670-422-203-0 Nty 1
9 0670-422-204-0 =i — 1
2

10 V111-154-000-6 VEYSE=ES M4X6

>SEHFX. FB2~105T,

_10_



4. TR (ZFD5) #0Y)3ak—A
MUN—%ZT03ASSY D — &} 13
M EHRT—T /
TEEYT S
6 %\
v
w7~ ,~
3
17 E‘
7
I’
N\
12 @\Qb
=7
o
12
7 14
L=140 L=200 L=100
F=7" W (AOYML)
75 Hama—k e 0 EE g % /NFEE
1 V211-360-802-0 04 WMSP) M8X20 4
2 0690-430-013-0 #0137k —2A(495) 1
3 0690-430-014-0 #0137k —2A(440) 1
4 3615-311-003-0 F-ANYNASSY(D=12) 4
5 0673-420-012-1 #3'F1—7°(13X380) 1
6 0690-430-016-0 £2'F1—7°(13X32X150) 1
7 3536-142-006-1 DAY-t ATy 6
8 0690-430-230-2 #2379399(RJI)ASSY 1
9 0690-432-011-0 :28 AYYavayyh'—p 1
10 V210-360-602-0 HIWMSP) M6X20 1
11 V360-260-006-0 VSHE VES W] 11 M6 1
12 0612-630-011-0 JE'—}44(100) 3
13 0690-430-017-1 = a)) 2
14 3913-523-012-0 B LAR VIMEX12(055%) M6X12 1
15 V360-260-006-0 FIN2IF IR 171 M6 1
16 3918-514-001-0 Je'—+44(200) 3
17 0690-680-260-0 Fa—9%)hI1-F COMP 1
18 0690-680-013-0 #3'F1-7°(12X150) 1

_11_



5. RBRAFR(ZD1)T UMY

"E B @ma—Fk BB m A #h EE g = AL A
1 0690-510-011-2 :28 1YY 'Y7'—1(18HP) 1
2 V401-160-012-0 SW 12 1
3 0661-173-013-0 7994 (12X40X03) 1
4 0679-510-012-0 £ IWM7/16-20UNF) 7/16-20UNF 1
5 0690-510-012-2 :28 hYv47°—1) 1
6 0690-510-013-0 h7—(21X27X21) 1
7 V600-150-600-4 RB.B 6004DDU 2
8 V705-140-042-0 Ch'4bA0(7 ) 42 1
9 V201-460-801-6 my 7 A M8X16 1 9T
10 V401-160-008-0 SW 8 1
11 3746-621-019-0 bVZ YRV 1
12 2703-501-018-0 sy VES DA 2
13 0690-510-014-0 VA'JLNB-51)W800 1
14 0690-510-200-1 :28 H7U4TYY3au7—LCOMP 1
15 0690-510-015-0 7"1(15X17X20) 2
16 0672-785-023-1 :28 O—5(45X46) 1
17 V600-150-620-2 RB.B 6202DDU 2
18 V705-140-035-0 ChHabA(TT) 35 1
19 V742-117-350-5 - VC17355 1
20 V704-140-015-0 Ch 4k AI¢) 15 2
21 V411-260-014-0 IES S 14 1
22 0450-501-012-0 y\VZ S IVE VN 1
23 8935-005-026-0 hvaTYYAVEYN 1
24 V362-260-008-0 I BEINRYETYR 11 M8 2

_12_



5. (BER (ED2) Y 19Ty

75 Hama—k @A Bz g % /NFEE
1 0690-520-011-0 :28 7°—Y(VB78) 1
2 0690-520-210-0 :28 #N4%—4TY3y7—LCOMP 1
3 3731-551-008-0 FY-#¥1ih' % 1
4 0339-181-391-0 750Y K ILM8X16-6.8 1
5 0631-650-013-0 Tuvav7’—1)(45) 1
6 V600-150-620-2 RB.B 6202DDU 1
7 V705-140-035-0 CH 4T T) 35 2
8 V704-140-015-0 CHab A7) 15 1
9 0347-510-012-0 19~ ILMSB32HP4) SB32(REC-HP4) 1
10 8935-042-034-0 DXhN-h4A{SP 1
11 8935-005-026-0 NV SVIEV VI 1
12 V362-260-008-0 AN GHIN YRR 11 M8 2
13 0329-620-298-0 DU7"Y1(15X17X20) 1
14 0690-522-220-0 : 28 HiN—(£IL4%—4/703)COMP 1
15 3913-523-012-0 HLRK LEMEX12(85H5) M6X12 4
16 0690-521-230-0 :01 Yv%YN'YCOMP 1
17 0690-521-011-0 8YxYAR Y (165%X220) 1
18 V211-360-801-6 IR VMSP) M8X16 2

_13_



6. EXERR(ZD1)YIIVE-S

e

i Eama—Fk BB A EE 5 = /NSE B (i
1 0690-610-200-2 BLSE—4(750W)ASSY 2
2 0690-610-011-1 BLSE—4(750W) 2
3 0690-610-012-1 Y1%9Y19F1—7°(90X60) 2
4 V210-250-602-5 R ILMS) M6X25 8
5 0612-630-011-0 JE'=F424(100) 2

>HEB1EFE2. 3250,

_14_



6. BEER(ZD2)I1vb0-7

RJ705

oy

e A =111 B 2 5 =k 5 & UAnLXii]
1 0690-623-200-1  1YPA-5705ASSY 1
2 0690-620-250-0 :28 I/MA—7M)YCOMP 2
3 V362-260-008-0  IWA¥INAYFFU 171 M8 8
4 V211-360-802-0 14K ILN(SP) M8X20 4
5 0690-622-078-0  h'{F1°A(260) 1

>HE1E. FEESD,

_15_



6. EERARZR (ZM2)Iu+0-7(W)

RJ705-W

mmmmmmm————n
/ \,

e A =111 B 2 5 =k 5 & UAnLXii]
1 0690-623-400-1  J¥hA—7705(W)ASSY 1 RJ705-WEF]

2 0690-620-250-0 :28 IMA-7M)YCOMP 2

3 V362-260-008-0 1N A¥INAYFFUE 171 M8 8

4 V211-360-802-0 1'% ILN(SP) M8X20 4

5 0690-622-078-0  h'{F'1°A(260) 1

6 3902-919-025-0  NYFY—IL(SW) 1

>HEE1E. FEL 65T,

_16_



6. BERZR(ZFD3)NYTY

75 Hama—k @A Bz g % /NFEE
1 0690-630-011-0 SCiB(SIP-24-23) 1

2 0690-631-210-0 :28 N'yTAH#1703(24V)COMP 1

3 0612-732-012-0 UFyhMme) 4

4 0452-210-250-0 =549y 7 ACOMP 4

5 0453-455-011-2 NYTY34A(G) 34A19R 1

6 0690-630-210-0 :28 N'yTAHI(12V)COMP

7 0670-422-023-0 1" L(20X50X5)

_1 7_



6. BERER(ZDLTNI2-4

_18_

G e A =111 - B i 2 5 =k B & UASnLXii]
1 0690-640-011-0  #LA%—%(24V-60A) 1
2 0690-640-012-0  #N4%—477Y 1
3 0690-640-013-1  A—FREys+yNMI8HYA) 1
4 0690-640-014-1  #31\"4(H18) 1
5 0690-640-015-0  E™»(14X155) 1
6 0128-340-011-1  AF-EU(16A) 1
7 V201-460-803-0 A4k LK M8X30 1 9T
8 V401-160-008-0  SW 8 1
9 3782-131-014-0  B-4Y'9Yv7 1



6. EERFR(ZD5) V)Y

"qE Hma—Fk EBEm A Fh B g = /NFE B
1 0690-650-021-0 Y1)v4°(24V-100-2000N) 1

2 0770-221-021-0 E°(10X37) 3

3 0631-770-012-0 £"(10X30) 2

4 1305-241-001-0 FANAYAT-EY 7

5 0690-650-026-0 =9 UN(3) 1

6 0690-650-300-0 7Y—Ay4(75-50)ASSY 1

7 1106-250-011-0 HAIE"(8) 1

8 V201-360-803-5 ) 1A M8X35 1 7T
9 V303-260-008-0 my RSl M8 1

10 0690-650-031-0 :28 AyH7L—F 1

11 V200-260-601-2 EAN M6X12 1

12 V360-260-006-0 VS LY VESDIN 11 M6 1

13 0690-650-022-0 Y1)v4"(24V-50-2000N) 1

14 0690-650-025-0 =N URN(2) 1

15 0690-650-023-0 YIJY5°(24V-50-500N) 1

16 0690-650-024-0 e SYRWINE)) 1

_1 9_



6. EERIFR (ZD6)7 0k

RJ705

"qE EB&maI—F EBEm A Fh B 5 & /NFEE
1 0690-660-210-0 7°0K (FMT/R-02)SET 1
2 0690-660-011-0 SYAVINCIVID) 1
3 0690-660-012-0 7°0K i - 1
4 0690-660-021-0 Y4 h 4N (FR) 1
5 0690-660—-022-1 Y4 h’ 4 (LR) 1
6 0690-840-210-0 =N (FMT-02)COMP 1
7 0690-840-011-0 N =FAYI(HI) 1
8 V111-155-001-2 7 IAFAIRY M5X12 2
9 0690-840-014-0 uz9a+yMM5)¥A 4
10 0690-840-012-0 N=FFHI(9) 1
11 0690-840-013-0 1’ LF1—7'(5X8X60) 2
12 V111-155-007-0 7 IAFAIRY M5X70 2
13 V300-250-005-0 Tk M5 2
14 0690-660-031-0 7°8f r—A(FMT-02) 1

SHB UEXFFIIPASFH I TEXIALE, v-IBFERMA SN TVETS,

_20_



6. EERIFR (ZD6)7 0k

RJ705-W

2

75 Hma—Fk B E% g = /NSEEE i
1 0690-661-210-0 7’0 (FMT/R-03)SET 1
2 0690-660-011-0 Y9I IR (FLUY) 1
3 0690-662-011-0 S MAT19HT—I(W) 2
4 0690-662-012-0 F+vy7°(3X6) 6
5 0690-662-310-0 H"—F(FMT-03)COMP 1
6 0690-662-014-0 h=FAHI(wW) 1
7 V111-155-001-2 7 IAFAIRY M5X12 2
8 0690-840-014-0 uz9aFyMM5)v0 2
9 V120-354-001-2 7°5AFA 3%V (SP) M4X12 2
10 0690-662-410-0 F—ARK VY (9I/TH)COMP 1

—_
—_

0690-662-013-0

F—A&K VY (¥5/10)

1

SFFEEXEEILPA6FF B 1 TEXIECE. VIR A BTSN TLVET,

_21_



6. EERAR (ZDT)SWAT—

18

8

#FE  H&aa—k R F B 5 & /NFE B
1 0690-670-200-0 LED7439+%(B)COMP 1
2 0690-670-210-0 LED7435+%(Y)COMP 1
3 0690-670-220-0 LED7425+)(R)YCOMP 1
4 V111-153-002-5 7 AN IRY M3X25 6
5 0690-670-011-0 UtyMM3) 6
6 V411-250-003-0 IWEYH 2 3 6
7 0690-670-014-0 :28 #4a4r9h™— 1
8 0690-680-200-1 :28 SWAT—COMP 1
9 V360-260-006-0 VS LY VESDIN 191 M6 9
10 0337-428-210-0 791k 4y A1y FASSY 1
11 0337-428-211-0 791k 4y 249 FCOMP 1
12 0337-428-212-0 Nydy 1
13 0337-428-213-0 ZYLIVyA 1
14 0337-428-214-0 1 Lh%vy7° (START) 1
15 0621-440-235-0 B RN 4)5 5 2
16 0621-440-236-0 S.W(5) 5 2
17 0621-440-237-0 Fyh5) 3Y1M5 2
18 0690-680-012-0 TAYSW 1
19 0690-681-210-0 :28 327 AT—703COMP 1
20 0674-951-300-0 LED7Y7°(7h) 6
21 0677-950-011-0 T4 1
22 0690-680-019-0 7% —(DC12V) 1
23 0660-760-031-0 H391°(9) 1

>EB10lF. FEI11~17T2ET,
_22_



6. EERR (L D8) EHR

minZiEET-7
TEEY S

5 E&Ha—F ERGmA T B g = AL A
1 0690-681-270-0 YF9LN'yTY—21—F COMP 1
2 0690-681-280-0 F3%—53—-F COMP 1
3 0690-680-051-0 UFyhM5) 4
4 V120-364-003-0 7'5AFA %Y (SP) M4X30 2
5 V360-260-004-0 FIN 2YFFIE 191 M4 2
6 V210-360-601-6 K IWMSP) M6X16 2
7 V300-260-006-0 FUb M6 2
8 0732-650-011-0 NyTVauY%e9 7 (R) 2
9 0690-680-350-1 —i243-FCOMP 1
10 V120-355-001-2 752+~ %Y (SP) M5X12 1

—_
—_

0690-680-011-0

2L —M14X100)

_23_

—_



6. BEEMER (ZDI)BLER2

Mun—+A703ASSYD—EB

5 E&Ha—F ERGmA T B g = AL A

1 0673-441-013-0 7°5AY—Ft(400) 1

2 0690-680-320-1 7°5AY—-Ft(170) 1

3 0690-680-330-1 7—R!)—Ft(350) 1

4 V210-360-602-0 K WMSP) M6X20 4

5 0679-440-011-0 +yh(1/4-20UNC) 2

6 0690-680-380-0 12V7 V4 va—F COMP 1

7 0732-650-011-0 NyTVauY %97 (R) 2

8 0732-650-012-0 NyTVavY%e97(B) 1

9 W RYPR YT 845269 1 IV VRIS
1

10 0690-421-260-0

JU—H)YrCOMP

_24_



6. IR (ZD10) BZHR3

TI45%—4(24V-60A)~

IV U(35677T)~
79k 4V A1y FASSY

IVFA-7703ASSY

A
X
1
5 &aa—k #an £ 71 B2 5 & /N B
1 0690-681-340-2 AMun—2AT03ASSY 1

_25_



6. BERR(ZD11)ELHRA

Y14 (24V-50-2000N)

L=100 L=140 L=200

L=250

_26_

75 EH&Ea—F K] B 5 = /NSE B (i
1 0612-630-011-0 JE'=F44(100) 6
2 3536-142-006-1 DA¥-t ATy 5
3 0384-420-015-0 IJE*~+44(200) 6
4 0325-503-004-1 E'—ha4 3
5 0772-640-011-0 F99F1-7 1



 MEREERFR(ED) T UM

~
N >
LY >
P ®
P g . ' g \\
- - & %
T

/

/
S
}7/1\

\ )

\}

A
A\‘
\
e
\\
\

v
N\
\

il

i

12
> 9 5
/i = //
b 2
o //44 \;6\\\\\J

- =

7 19

& 7

18

16 /@

17
f"E Hma—Fk @A R B = /NFEE
1 0690-710-200-1 :28 #')n7—JCOMP 1
2 0670-710-031-0 799%(12.5X34X4.5) 1
3 V401-160-012-0 SW 12 1
4 0670-710-018-0  IWMM12X30/M6) 1
5 V767-400-000-0 FYRZYT I A-M6F 1
6 0690-710-011-3 NI47 270y 4-) 1
7 0670-710-041-0 R.B.B(6007/DU) 6007DU 2
8 V600-110-600-7 RB.B 6007 1
9 0670-710-012-0 $h #(41X62) 1
10 V705-140-062-0 Chab A7) 62 4
11 V742-140-620-5 TAV—l VC40625 1
12 V744-140-621-1 Tl TC406211 1
13 0675-710-011-0 :28 hya—A'—R(78XM14) 1
14 0670-710-014-0 :28 AN —(hYNAH1) 1
15 0674-710-250-0 :28 +»% 39497 COMP 1
16 V401-160-020-0 S.W 20 1
17 0690-712-012-0 798+ MM20X 1.5/ 49%) M20X1.5 1
18 0690-712-011-0 # ILMM14X1.5X40) 2
19 V401-160-014-0 S.W 14 2
20 0690-730-016-0 # 1" #(14X36X4.5) 2

_27_



7. MEREER R (ZD2) T Uh 72

20

18

i Eama—Fk e EE i /NSE B (i
1 0690-710-012-0 VA'ILMB-38)W800 1
2 0690-710-013-0 :28 A JLFRIyAN 3
3 V211-360-801-6 I 4R IWMSP) M8X16 3
4 0690-710-210-1 :28 HYM)T¥3v7—LCOMP 1
5 0690-710-014-0 7°92(15X17X10) 1
6 0690-710-015-0 7°92(15X17X15) 1
7 0690-710-018-0 7994(15X30X1.2) 2
8 V704-140-015-0 CHab A7) 15 2
9 0631-650-013-0 TUvav7—1)(45) 1
10 V600-150-620-2 RB.B 6202DDU 1
11 V705-140-035-0 Chab A7) 35 2
12 8935-005-031-0 hn'-sp 1
13 0380-623-021-0 A724 (HE66) 1
14 3912-213-015-0 79%+%(04X15X03) 1
15 0690-710-016-0 F=7" LN 79F) 1
16 V411-260-008-0 LW 8 1
17 8935-009-013-0 4% 79939AT-t"Y 1
18 0690-710-220-0 :28 74{¥—7—LCOMP 1
19 0690-710-017-0 7°92(12X14X10) 1
20 3911-342-271-0 7°2(12X14X15) 1
21 V411-260-012-0 LI 12 1
22 V704-140-012-0 Ch 4k A9 Y) 12 1
23 3918-514-001-0 Je’~}44(200) 1

_28_



7. MIREERER(ZD3) 7%

Vi s EHBma—F BB Em B #h B B = /NSEEE (iR
1 0690-720-200-0 :28 7'L—%7—LCOMP 1

2 0630-530-012-0 W7 L—%a- 1

3 0690-720-013-0 :28 AA—H#(7L—%Ya1-) 1

4 0670-720-011-0 RIhITFIFE WMM3X20) 12.9 2

5 0690-721-011-0 N4 Hh %(3.5) 2

6 V360-260-003-0 FIN Y1 T9MM3) M3 2 AT
7 0690-720-210-0 :28 7'L—%YTYCOMP 1

8 V211-360-802-0 N 4R WMSP) M8X20 2

9 0690-720-012-0 =7 Lhn7°L—%) 1

10 8935-009-013-0 D4%79939AT-t"Y 1

11 V500-163-002-0 ey 3X20 1

12 1122-231-019-0 A7Y%°(HC103) 1

13 V411-260-006-0 RS 6 2

14 0690-732-014-0 K74 172T7—(78XM14) 1

15 0690-732-300-0 +47(RJ/M16)SET 1

16 0690-730-012-0 F47(RJ) 4

17 0690-732-011-0 FAIMAKWMRI/M16) 2

18 0690-730-014-0 Hh7—(F47RJ) 2

19 0690-732-013-0 :01 +yhh'—F(RJ/M16) 2

20 0690-732-012-0 ¥ 1 2(16X36X4.5) 2

21 0690-732-015-0 nN=rnyHFyMM16) 2

22 0690-732-310-0 F47K WMRJI/M16)SET 1 1E85Q#E)DSET
23 0612-630-011-0 JE'—}44(100) 1

>HEE15IE. FE16~21%ET,
>HE220E. FEI1T~21%ET,
_29_



7. MEREERFZR (ZFD4)hin—

ik
Al

EB&maI—F

16

0 &a A 15

B2k

&

z

INTEEA

S©ON® ghwN =

—_ e =
Ol WN =

—_ — .
© 00N>

0690-740-200-3
0690-740-230-4
0690-741-210-0
V362-260—-008-0
0690-740-240-0

0690-740-250-0
0690-740-011-0
0690-741-013-0
3731-551-008-0
0690-740-021-1

0690-741-015-0
V201-460-801-6
0690-740-014-1
0690-740-016-0
0690-740-017-0

0690-741-011-0
0690-741-012-0
3901-760-602-0
0690-740-015-0

:28 AYNAN —A—ACOMP
:28 fI'—FA—Z(R)COMP
:28 H'—FA'—2703(F)COMP

=y EVPINEVES W 191 M8

:28 #"—F(3.2/L)COMP
:28 h'—K(3.2/R)COMP

E"(10X725)
£ (10X657)
R LE L L

28 hYnhn'—(L)
128 HYnhn'=703(R)

) T A M8X16
4 ViRV L(186)

:28 TLAYI
:28 I LAY I(HAL)

YUk Y3 L703(F)

:28 I AAHI703(F)

B AR ILMMEX20(E5H4)

28 AUT7L—h

_30_

g_;_k_k

_ N = A

N — = N =

9T



7. MEZEER®R (ZD5)Y3ananynF
8
#FE  H&Ea—k R F B {i& /NFE B
1 0690-750-200-4 :28 h'J4h#HF HCOMP 1
2 0690-750-210-0 : 28 HY4h%#YTU(R)COMP 1
3 V211-360-802-5 N4 WASP) M8X25 4
4 0690-750-011-2 :28 ¥ 3{UF7—L(A) 2
5 V411-260-012-0 IELWIET 12 8
6 V500-162-502-0 ey 2.5X20 4
7 0690-750-220-0 :28 '3945 7—LCOMP 2
8 0361-501-011-0 A, 2
9 0356-502-001-0 HI9FLIN=YTUE™Y 6
10 4217-330-011-0 #1°£(12X30X4.5) 4
11 1305-241-001-0 HRNAYAT-EY 6
12 0690-750-230-0 Y h 7—A(700F)COMP 2
13 0690-750-240-0 Ayk (377 )COMP 2
14 0670-750-012-0 7Y % AMYMM16X1.5) 2
15 V333-260-016-0 I GFYMGEYR) M16X1.5 2
16 0670-750-013-0 FyMESYM16X1.5) 2
17 0670-750-016-0 H317 2(2H) 4
18 0690-650-012-0 :28 N—#AFKILT(R) 1

_31_



7. MEVEERZR (ZD6) Y aMub
‘
\
N
#FE  H&Ea—k R F E% 5 & /NFEE
1 0671-780-200-0 Y UMV 47T (W)COMP 1
2 0674-780-011-0 Y 34 UbR—R(450) 1
3 0384-111-012-0 F—AN VN 2
4 V211-360-802-0 04K ILMSP) M8X20 1
5 V362-260-008-0 AN AYFIN RYEFYL 171 M8 1
6 0325-503-004-1 e"-paq 1

_32_



8. AN—RBRZR(FD)F T 1hn—

23
Jjn

EHma—kK

0 &a B 15

B2

&

z

INTEEA

S©®OuN® UhAWN =

11
12

0690-810-011-1
3912-574-018-0
0612-732-012-0
3901-760-001-0
0690-810-210-0:

V361-260-006—-0
0690-810-220-0
V112-164-001-2
V360-260-004-0
3912-112-017-0

V362-260-006—-0
3912-574-015-0

:55

TN -
F7234Y°(M6X20)
UtyMM6)
UV
ayJt»COMP
FIN2YF IR
¥1919°F74COMP
7°7A%73%Y°
FIN2YFFIb
42794
INAYIN RYETFYR
F52345°(M6X16)

2%1 M6

M4X12
191 M4

191 M6

_33_

e G =2

- NN =N

—_ -



8. WN\—FR (ZD2) YA Fr—uA —A(L)

7L-LCOMP
(RIE7)

"E Hma—Fk @A B %k & /NSEEA
1 0690-893-710-0 YANFI—UA'=A(L)SET 1
2 0690-893-300-0 HANFI—UA=A(L)ASSY 1
3 0690-893-310-0 :28 H#AkFri—UA'—A(L)COMP 1
4 0690-890-011-0 F1—(8-40X28)/8 3
5 3731-551-014-0 1v7 3
6 0612-732-012-0 Uty MMe) 3
7 0690-893-011-0 TAMAN /L) 1
8 0690-893-012-0 :28 7'L—F(IR/22X95) 1
9 3901-760-602-0 tLAR LIMEX20(AH%) M6X20 3
10 3782-131-014-0 o497 1
11 0612-732-012-0 UtyMMe) 1
12 V201-260-807-0 IR Wb M8X70 2
13 V411-260-008-0 IEDWIF 3 2
14 V401-160-008-0 SW 3 2
15 0690-893-027-0 :28 #4NFi—vkyF 1
16 0690-893-029-0 :28 #5—(9X14X50) 2
17 0690-893-340-0 :28 I AAT—(#1+/L)COMP 1

SEE1X. FFB2L8~1725T,
>EHF2E. FBI~TEED,

_34_




. WN—BR (ZFD3) YAN F1—UA —A(R)SET

7b-LCOMP
(BRIETA)

"E Hma—Fk @A B %k B & /NSEEA
1 0690-893-720-1 HANFI—UA-R(R)SET 1
2 0690-893-320-0 HANFI—yA—A(R)ASSY 1
3 0690-893-330-0 :28 H#AkFr—yA'—A(R)COMP 1
4 0690-890-011-0 F1—(8-40X28)/8 3
5 3731-551-014-0 1v7 3
6 0612-732-012-0 UtyhMMe) 3
7 0690-893-013-1 TLMAF/R) 1
8 0690-893-012-0 :28 7'L—F(IR/22X95) 1
9 3901-760-602-0 tLAR LIMEX20(AH%) M6X20 3
10 3782-131-014-0 o497 1
11 0612-732-012-0 UtyMMe) 1
12 V201-260-807-0 IN 4k M8X70 2
13 V411-260-008-0 IEDWIF 3 2
14 V401-160-008-0 SW 3 2
15 0690-893-029-0 :28 #5—(9X14X50) 2
16 0690-893-350-0 :28 I LAAT—(#1F/R)ICOMP 1
17 V201-460-802-0 ) T[N 9TM8X70 1

SEE1X. FFB2L8~1728T,
>EHB2E. FBI~TEED,

_35_



8. NN\—FER (ZD4) '+ F1—U(FOVMSET

WUCOMP A
T

o

.a’ \

OIS .'J-\,‘. NN

X e "Hﬂ .'.0"‘5““
N NN

NAmra

S

/4
R

S
E":‘D:‘(‘:
'(!»‘a.@’!%)'
A5G
';@@'G
,,e
9
O7b-LCOMPHIICHBAT I
i s EBama—k EBan R EE B = /NS B iR
1 0690-893-730-0 h=FF—U(70UF)SET 1
2 0690-893-400-0 N =FF1-»(7AUF)ASSY 1
3 0690-893-410-0 :28 F1—y7y44H#I1(70UF)COMP 1
4 0690-893-022-0 nWA@]sV]S) 1
5 0690-893-016-0 :28 I AAHI 1
6 V411-260-006-0 HIES IR 6 5
7 0612-732-012-0 UtyMMme) 5
8 0690-890-011-0 F1—1(8-40X28)/8 16
9 0690-890-012-0 F1—(8-40X28)/7 6
10 0690-893-015-0 :28 F1—y7y4(70}) 1
11 V211-360-802-0 204K WMSP) M8X20 5
12 0328-270-201-0 Yr991(8-SC) 2

SHEFX. FB2L12%2 8T,
>HE2E. FEI~1EED,

_36_



8. W/ \—B8{R (FD5))¥h —NFz—UMYFSET 1/2

7-LCOMP

7-LCOMP ?’a 20 o
Ewen)\ | | Fia. S,

S LT
CJSEINEENN
7 3D
a7l PN
T B S
GonRagtlosenas
7 (5 Ry
D2
'—““3
<]
V13
6
7 5 2
O7b-LCOMPE&ITHET I 16 N2
s 14
7B E&ma—F B AT Bk g & /NFEE i
1 0690-893-820-0 e =N FI—YMYSSET 1
2 0690-893-740-0 N=NF1-U0)¥)SET 1
3 0690-893-500-0 N—FF1—U()¥)ASSY 1
4 0690-893-510-0 :28 F1—y7944#1()¥)COMP 1
5 0690-890-011-0 F1—(8-40X28)/8 14
6 0690-890-012-0 F1—(8-40X28)/7 4
7 0690-893-017-0 F1—v7990)%) 1
8 V211-360-802-0 IN 4K IWMSP) M8X20 5
9 0690-893-018-0 TA0Y) 1
10 0690-893-016-0 :28 T LAAH¥I 1
11 V411-260-006-0  3Ih'¥4'h'% 6 5
12 0612-732-012-0 UtyMMme6) 5
13 0690-893-024-0 U ILF(10A/M8) 2
14 0690-893-019-0 :28 7°L—MIR/19X57) 2
15 V300-200-006-0 Tk M6 4
16 V310-120-006-0 79a+9b M6 4
17 0328-270-201-0 Y494(8-SC) 2

_37_




8. H/\—BH{R (ZD5) )¥h —FF—IM)YFSET 2/2

3 R X {E
~=|
- Q
X (SUERZRYERR)
s
EERER D) !
H_ ——_—NS T - —
SN GOR) =
PN SEY
o 7, <«
)
U 7 y
A\

4 o I

O, 2 . P

s g Lo o

= oo o o 10

Te) AE\O\AE4

mm 5AEAE+Z~

o Jwdg

=4 o~ L Y

og ©°~2 0y

% ERES

o S opopar

= S = oo

=3 B3

W\u/muulil N 4\n\)u\n/ O R

AN JIdoER kT Bidsp

= RS S8 - A

£ SRRER _FRF wmewmpew

Seu FrrRrRRe ey T

\J =S==nm DR=I= AAANAAA
® 28 S
o 4| oo @0 Oocoo
> r L0 LT T
_ OO X Voo
@) 522%% m?_,I:Sv
al— O IMf TPPTT TPDY
._._./J - _um D MH MO0 Ommm
M | DL O O o
O X N ._m_bnoooooo?_?_ — 0 0 ©
Nl = o1 LT
Ol = OO - T —OOoOo
= = O DO Qoo o
= O OoJdT FTo© o ©
|_/.._._M oOo0oOo>> >o00O0
== of oo - ®»<w©wo
——NANN NNNN

_38_



8. h/\—BE&(FMD6)IVY Uyh—FMSETH
13
"E E&ma—F B AT Bk 1 /NFEE
1 0690-893-200-0 IYY Ul —MNASSY 1
2 0690-893-210-0 :28 I Ui —N7L—LCOMP 1
3 0690-893-250-0 :28 4'1)JLCOMP 1
4 0690-893-023-0 :55 7°L—MatuFa9q) 1
5 0770-510-017-0 790+ MM6)90 2
6 V411-270-006-0 IEL IS 6 2
7 0690-893-260-0 :28 7'L—MN7AVMYIL)COMP 1
8 0690-893-280-0 :55 N'V/\'COMP 1
9 0690-893-026-0 :28 7°L—I(1/54X150) 1
10 V360-260-006-0 HINRZYFFyb 191M6 2
11 0690-910-025-1 FIN VR GFamA) 1
12 0329-910-033-0 INWEA39/77Y) 1
13 0690-911-017-0 INNVETY/HTA) 3
14 0453-910-024-0 INIWE49/109°Y) 1
15 0690-893-025-0 A" IL(BE000041) 1
16 0690-893-031-0 :28 #' 4} 1
17 V210-370-601-6 R IWMSP) M6 X 16 22

>HEB1E. FE2~1712ET,

_39_



8. W \—F&R(FDT) IV Uh—FSET2

179 Jh -k ASSY

p -+ N 47" COMP

"E H&ma—F BB R Fh B %k B & /NSEEA
1 0690-893-910-0 IVY YN -NSET 1
2 0690-820-011-0 UK ILM25A/M6) 4
3 0672-515-013-0 # 0 #(8X17X4.5) 8
4 0770-740-013-0 FYMM6)/0 8
5 0770-510-017-0 7904MM6)yn 8
6 0690-893-024-0 UK ILM10A/M6) 2
7 3901-760-001-0 DV 4
8 0612-732-012-0 UFyMMms6) 4
9 0690-893-033-0 hV1)3—4(GD705) 1

SEHEX. FB2~8LP6FE1EED,

_40_




8. HN\—R{&R (FD8)y0—7hN—SET

/NFEE i

E =

0 i A TR

—_——r—_N <t 9O 0N~
- —

ya—7hN —(L)ASSY

ha—-5hN—SET
HA—FhnN —(L)SET

0
0
4 0690-893-610-0 :28 Hn'—(JA—7/L)COMP

0690-893-930-0

2 0690-893-830
3 0690-893-770-

1

T LG

6 0690-740-017-0 :28 T AAHI(HAM)

~3)

—/9n

5 0690-893-021-0

"7

7 3731-551-014-0

R ILM6EX20(RYH%)

79%%(12X40X03)
Ha—5hnN —(R)SET
Ha—Fhn'—(R)ASSY

tLA
12 0690-893-620-0 :28 H/\—(90—7/R)COMP

0
-0

8 3901-760-602-
9 0661-173-013
10 0690-893-840-0
11 0690-893-780-0

BE2L1025T,
HE3LEED,
.FB4~8FET,
HE1265~8%5T,

~
~

F10[X, FHE1EZEED
10,

=
kel

- - -

FF
¥

- -

pran=alke
>FE20%
>FFE3IE

>
>

_41_



9. INJLEAFZR(ZD1)1/2

RJ705-G

e Gl ooy
ZNO O SN
. R a E T

7" O ASSYES 7" O ASSYEA

\ F\' =2 742C0MP
40

14 10 21

f"E H&ma—F BB Em A Fh

1 0690-912-011-0 ¥Y13-9(RJ705) 1
2 0690-910-023-0 ¥—49(HYBRID) 1
3 0690-910-012-1 Ayhe=h(hh )L 1
4 0690-912-013-0 A"yh¥—4(RJ705) 1
5 0690-910-014-0 VL ESY] 1
6 0690-911-012-1 N2IR—49703 1
7 0690-910-016-0 =9GYT /T IN) 1
8 0690-910-017-0 =9GUT /%) 1
9 0690-910-018-0 =957 /15-) 1
10 0672-925-013-0 hntsy amI-9 1
11 0690-911-016-1 =9(fuTFTVR)703 1
12 0690-910-021-1 =9(I5-k39Y) 1
13 0690-910-022-0 T=-H(EVIEIDY) 1
14 0690-911-017-0 INLErY/hYA) 2
15 0670-910-034-0 INWETY/HIN) 1
16 0690-911-014-0 INNErY/r43/0%) 1
17 0690-910-033-0 FINWErY/43Y) 1
18 0690-910-034-0 IN W 439 /934BYRY) 1
19 0690-910-035-0 FNW(Fa94/MTIhA) 1
20 0329-910-033-0 NN 439/770) 2
21 0636-911-041-0 FINNI439/7°-h4T)B 2
22 0673-910-021-0 FAILNYTY) 1
23 0690-910-037-2 INWErY/1Y) 1
24 0690-910-051-0 h9—11(48X70) 1
25 0690-915-011-0 SV VE ] 1




9. INJLEAZR(ZD1)2/2

RJ705-G

]

VhoRA

50 /

L=
O Of;
- /—J; -

585

o
[ X

fi \ 7' O ASSYER) 7' OR ASSYEA
] Y FI\" r—A72C0OMP
13 1 1 40
1410 11 ,.Y 5 27395 COMP
57 A7—COMP
5 16 12
C SWAT—COMP ) .
Sy
I 26585 |
7 48
1 41
f"E Hma—Fk @A I & /NFEE
26 0690-915-012-1 v-9(F/R) 1
27 0690-915-013-0 v-9(L/R) 1
28 0690-915-014-0 ¥=9(Fa9tY) 1
29 0690-915-015-0 T=9NINIFYF) 1
30 0690-915-016-0 v—9(x¥° YON/OFF) 1
31 0690-915-017-0 V=9IV U 4%) 1
32 0690-915-018-0 Y=9@TVY U 4v%/$)NI) 1
33 0690-915-019-0 ¥=9(@y5h4Y3) 1
34 0690-917-012-0 ¥=9(F-9%h1) 1
35 0690-915-021-2  FAMHTA2Y/TU57Y) 1
36 0690-918-011-0 ¥=9(F44+VN-)705 2
37 E000040 DANGER LABEL 1 IVYVERE
38 E000041 CAUTION LABEL 1 IV Ve
39 E000050 ZELESA VIV VEIVE) 1 IV UERE
40 0675-910-022-1 YU WI—-H(ATEX) 1
41 0690-910-024-0 INW@EYY /A ) 1
42 0690-910-025-1 NN IFa91) 1
43 0690-910-028-0 INWETY/8FAF) 1
44 0690-910-029-0 INVETY/Fe97) 1
45 0690-910-038-0 v=9(C/TUh1%0Y) 1
46 0690-915-024-0 v=9(P/7 Uh4%UY) 1
47 0690-911-018-0 INWETY/TORY /AN =) 1
48 0690-911-015-0 INN@EITIEYY INFY) 1
49 0690-911-019-0 T-9(NETIS/RJ) 1
50 0690-918-012-0 Y=9(TYAL) 1

_43_



9. SNILEER (ZD1)1/2(W)

RJ705-WG

23
Al

N
ﬂ\‘

14 10 21

I\ T YA I(12V)COMP

Ema—k

0 i 2 FR

77 27 —COMP

SWAT —COMP

34 45

AL

ZH58%

RYAA7 0K ASSYESR

26 25
RUZAA7 0K ASSYERA

/NFE B i

_——_ aa o o
TR e D©®WOou NN =

N = = = =
O © 0o N o

N NN
wWw N =

N
E

0690-912-011-0
0690-910-023-0
0690-910-012-1
0690-912-013-0
0690-910-014-0

0690-911-012-1
0690-910-016-0
0690-910-017-0
0690-910-018-0
0672-925-013-0

0690-911-016-1
0690-910-021-1
0690-910-022-0
0690-911-017-0
0670-910-034-0

0690-911-014-0
0690-910-033-0
0690-910-034-0
0690-910-035-0
0329-910-033-0

0636-911-041-0
0673-910-021-0
0690-910-037-2
0690-910-051-0

*¥v1v-9(RJ705)
v—%(HYBRID)
Ayhv=h(hin™))L
AyphY—9(RJ705)
PRLE S

N2LI-4703
X=9GYT /T UN)
Y=9GU7 /T A%)
=9(5v7°/13-)
nntyyan—9

I=-9(Ao7+UA)703
=9(I7-k39Y)
-H(E'VIEInY)
INWETY/HYA)
FNLE U /hn)

INWVETY/ 439 /)%)
INWErY/43Y)

FIN 439 /9340YR)
INIWFa94/MT7Ih4)
INNTA3Y/7TY)

FINWT439/7°-Vh41T7)B
INIWINYTY)
INMETY/1Y)
h9Y—1(48X70)

_44_

—_ —_ = = =

_ N = = =

—_ a a N N = —w o



9. SNJILEER (ZD1)2/2(W)

RJ705-WG

I\ T YA I(12V)COMP

N
LTl

14 10 21

77 27 —COMP

SWAT —COMP

34 45

AL

ZH58%

RYAA7 0K ASSYESR

26 25
RUZAA7 0K ASSYERA

1
BS  #Hea—F R B & 1N B
25 0690-916-011-0 TN UR-HIP 1

26 0690-915-012-1 ¥-9(F/R) 1

27 0690-915-013-0 ¥v-9(L/R) 1

28 0690-916-012-0 I=-9(Fan )P 1

29 0690-916-013-0 =97y F)IP 1

30 0690-916-014-0 ¥-9(TYY"YON/OFF)IP 1

31 0690-916-015-0 =9IV T4V 0IP 1

32 0690-917-013-0 =9FhDIP 1

33 0690-915-021-2 FINWEA39/F08) 1

34 0690-918-011-0 =9(F34FoN-)705 2

35 E000040 DANGER LABEL 1 IV VER G
36 E000041 CAUTION LABEL 1 IV UER G
37 E000050 BLEINIWIVY VEVE) 1 IV VER G
38 0675-910-022-1 YUK WY=9(ATEX) 1

39 0690-910-024-0 FNN@AYY /A1) 1

40 0690-910-025-1 IN WM IF274) 1

41 3902-919-025-0 NYFY—IL(SW) 1

42 0690-910-028-0 INWEFTY/8F4F) 1

43 0690-910-029-0 INWEFTY/%097) 1

44 0690-910-038-0 v=9(C/TUh4%uY) 1

45 0690-915-024-0 X=9(P/TUh4%oY) 1

46 0690-911-018-0 INWVEEY/ToN /AN =) 1

47 0690-911-015-0 INNAITIEYATEVY) 1

48 0690-911-019-0 v—4(NETIS/RJ) 1

49 0690-918-013-0 =9(TYAMIP 1

_45_



10. 4 amBEfR(ZD1)

RJ705-G

Vi ies HBma—F BB R Fh B i /N5E B (R
1 0690-943-011-1 MJE9(705) 1
2 0690-893-032-0 MEY@DF /e Uh =) 1
3 0771-960-011-0 EEDVad el 1
4 0772-950-015-3 EVE D VE 6Vl = VES! 1
5 0677-940-200-1 NYT =) 1
6 0771-960-013-0 UV ELY UVED] 1
7 0690-951-011-0 7°39°LUF(16) 1
8 0690-952-011-0 kYA’ L— 1
9 0690-952-012-0 Vby VZkatyd 1
10 0690-220-014-0 70UbLY7 VAT L=} 1
11 0771-441-013-0 F723%Y°(M6X14) 4
12 3789-151-006-0 w307 4
13 0612-732-012-0 UFyMMms6) 4

_46_



10. i+ mBEAR(ED2)

5

)

Z o

e A =111 e B fm 4 #5 =k E & /]N5E Ei
1 0690-872-200-0  Y/rybLuF(22-24)SET 1
2 0690-872-210-0 :28 Y7yhLuF(22-24)COMP 1
3 0690-872-310-0  YFyhnUMI(22-24)ASSY 1
4 0690-870-220-0 :28 YA yknuk IL(22)COMP 1
5 0690-872-011-0  Y—=4(hL9Y74/M16) 1

>SEB1E. FB2L3FET,
SEEBIIE. FEALEED,

_47_



10. T FmE®RW)

RJ705-WG

"E H&ma—F BB R Fh EES & /NSEEA
1 0690-943-012-0 MJ+9(705-W) 1
2 0690-893-032-0 MEY@DF /e Uh =) 1
3 0771-960-011-0 TAADVNh- 1
4 0772-950-015-3 £A993AY=UEIIYF) 1
5 0677-940-200-1 NYT =) 1
6 0771-960-013-0 UV ELY UVED] 1
7 0690-951-011-0 759 LuF(16) 1
8 0690-952-011-0 EryA7 - 1
9 0690-952-013-0 YR HA4TZ27 (W) 1
10 0690-220-014-0 700V 7 VAT b 1
11 0771-441-013-0 PR32V (MBX14) 4
12 3789-151-006-0 w307 4
13 0612-732-012-0 UtyMM86) 4

_48_



11. OPTRMR(FD1) KIA(7°0K" 1/2 RJ705-G

15 14

£ A17 0K (705)ASSYZER|  K'9A47°0K(705)ASSYFAI

_________________________________________________________________________

75 Heama—k ER e 5 B B & /NFEEE i
1 0690-960-500-0 R'IA47°0K(705)7WSET 1 OPT
2 0690-960-400-1 R'IA47° 0K (705)SET 1

3 0690-960-410-1 #'A47° 0K (705)ASSY 1

4 0690-661-211-0 YU %(FMT-03)SET 1

5 0690-916-011-0 TUEYT=4IP 1

6 0690-916-012-0 T-H(FAE)IP 1

7 0690-916-013-0 T=HNnhFyFIP 1

8 0690-916-014-0 v=9(1Y"YON/OFF)IP 1

9 0690-916-015-0 =9V U 40P 1

10 0690-917-013-0 Y=9FhI)IP 1

11 0690-915-012-1 ¥—4(F/R) 1

12 0690-915-013-0 v-9(L/R) 1

13 0690-915-021-2 INWTA9/T U Y) 1

14 0690-915-024-0 Y=9(P/ 7 Vh4%UY) 1

15 0690-960-021-0 =)+ =)Y705 1

16 0690-662-011-0 Y IMATA997—I(W) 2

17 0690-662-012-0 Fvy7°(3X6) 6

18 0690-918-013-0 v=H(FYAMIP 1

19 0690-960-011-3 74393703 1

_49_



11. OPTRMR(FD1) K HA(7°OK" 2/2 RJ705-G

e #&a—k 0 i B FF

20 0690-662-310-0 H"—F(FMT-03)COMP
21 0690-662-014-0 h=FAHIW)

22 V111-155-001-2 7 AN IR M5X12

23 0690-840-014-0 uz90+yMM5)Y0

24 V120-354-001-2 7°5AFA 3%V (SP) M4X12

25 0690-662-410-0 F—ARK VY (9L/TH)COMP 1
26 0690-662-013-0 F=ARKVY (V4/10) 1

>HBE1E. FE2L/F520~265 5T,
>HEB2E. FBEIE19ZEL,
>HEIE. FE4~18FEL,

_50_



11. OPTEER(ZFM2) NPFFUTSET

12

Of" -+ IV 47" COMP_ERIIHEAT 1

qE EEmI—F BB fm A 5 B g & /NFE B
1 0690-830-200-1 NMUTSET 1 OPT
2 0690-830-300-0 NI5UTASSY 1

3 0690-830-013-0 INSVIEELLZ LN 1

4 0457-623-014-1 #3'F1-7°(16X180) 1

5 V360-260-008-0 $INTIEFIR 11 M8 1

6 0690-830-210-0 :28 N} 7°'A'—ACOMP 1

7 0690-820-011-0 UR ILM25A/M86) 2

8 0612-732-012-0 UFyhMMme6) 4

9 3901-760-001-0 iUV 4

10 0614-521-012-0 VY ==Y 4

11 0690-830-220-0 :28 N'+5Y7H'—F COMP 1

12 3913-523-012-0 B ARR IWIMEX12(B5H%5) M6X12 2

13 0660-760-031-0 39 (9) 1

14 0690-830-011-0 Yok e VEDUELVE 1

>HB1E. FE2~14%ET,

_51_



11. REPEE{R(ZD1) 70F

RJ705-G

7’0k’ (705)ASSYZE A

7°AF°(705)ASSY R A

qE E@ma—F BB fm A 5 B & /NFE B
1 0690-961-400-0 7°0ik°(705)SET 1 REP
2 0690-961-410-0 7'’ (705)ASSY 1
3 0690-660-211-0 Y9V U (FMT-02)SET 1
4 0690-660-021-0 Y h 4N (FR) 1
5 0690-660-022-1 Y4 h 4 (LR) 1
6 0690-915-011-0 YV &] 1
7 0690-915-012-1 ¥-4(F/R) 1
8 0690-915-013-0 ¥-4(L/R) 1
9 0690-915-014-0 v=9(F37EY) 1
10 0690-915-015-0 =9hINIF9F) 1
11 0690-915-016-0 ¥-49(Z¥Y"YON/OFF) 1
12 0690-915-017-0 FEUIC L E)) 1
13 0690-915-018-0 =9IV U4/ F)hI) 1
14 0690-915-019-0  ¥—4(Ay/h4¥3) 1
15 0690-915-021-2 FNWEA9/TUEY) 1
16 0690-915-024-0 X=9(P/7Vh4%vY) 1
17 0690-917-012-0 ¥=9(F3—93)hI) 1
18 0690-960-021-0 =)o —)Y705 1
19 0690-918-012-0 Y=9TY AL 1
20 0690-960-011-3 7437373 1

SHEF1X. F52, 20 5L,
>HE20E. FEI~19FET,

_52_



11. OPTRE{R(ZD2)

fA47° 8K W) 1/2

RJ705-G

_53_

75 H&ma—k ER e 5 B 1 /NFEEE i
1 0690-960-500-0 R'IA47°0K(705)7WSET 1 REP
2 0690-960-400-1 R'IA47° 0K (705)SET 1

3 0690-960-410-1 #'A47° 0K (705)ASSY 1

4 0690-661-211-0 YU %(FMT-03)SET 1

5 0690-916-011-0 TUEYT=4IP 1

6 0690-916-012-0 T-H(FAE)IP 1

7 0690-916-013-0 T=HNnhFyFIP 1

8 0690-916-014-0 v=9(1Y"YON/OFF)IP 1

9 0690-916-015-0 =9V U 40P 1

10 0690-917-013-0 Y=9FhI)IP 1

11 0690-915-012-1 ¥—4(F/R) 1

12 0690-915-013-0 v-9(L/R) 1

13 0690-915-021-2 INWTA9/T U Y) 1

14 0690-915-024-0 Y=9(P/ 7 Vh4%UY) 1

15 0690-960-021-0 =)+ =)Y705 1

16 0690-662-011-0 Y IMATA997—I(W) 2

17 0690-662-012-0 Fvy7°(3X6) 6

18 0690-918-013-0 v=H(FYAMIP 1

19 0690-960-011-3 74393703 1




11. OPTEAR(ZFD2) K HA47°AK (W) 2/2 RJ705-G

e #&a—k 0 i B FF

20 0690-662-310-0 H"—F(FMT-03)COMP
21 0690-662-014-0 h=FAHIW)

22 V111-155-001-2 7 AN IR M5X12

23 0690-840-014-0 uz90+yMM5)Y0

24 V120-354-001-2 7°5AFA 3%V (SP) M4X12

25 0690-662-410-0 F—ARK VY (9L/TH)COMP 1
26 0690-662-013-0 F=ARKVY (V4/10) 1

>HBE1E. FE2L/F520~265 5T,
>HEB2E. FBEIE19ZEL,
>HEIE. FE4~18FEL,

_54_



11. REPEE{R(ZM3) I/k0-7

RJ705-G

SHB1E. FE2L1#ET,
>HEB2E. FEI~6EST,

_55_

"qE H@ma—k BB m £ E# g = /NSEEE i
1 0690-964-200~1 a/hE—3705(2)SET 1 REP

2 0690-964-210-1 1b0—5705(2)ASSY 1

3 0690-622-078-0 H°4N 7 L(260) 1

4 0690-964-011-0 =9(h) Ty =)Z705 1

5 0690-910-051-0 h9Y—1(48X70) 1

6 0690-910-038-0 ¥=9(C/TUh4%uY) 1

7 0690-960-011-3 7439373 1



11. REPEA{R(ZM4) 1vba—5W

RJ705-WG

"qE H@ma—Fk BB Em R Fh B g = /NSEEE i
1 0690-964-300~1 a/hB—3705W(Z)SET 1 REP

2 0690-964-310-1 IhO—5705W(Z)ASSY 1

3 0690-622-078-0 h°4N 7 L(260) 1

4 0690-910-051-0 h9Y—1(48X70) 1

5 0690-964-011-0 v=Hho+un-)z705 1

6 3902-919-025-0 NYFY—IL(SW) 1

7 0690-910-038-0 ¥=9(C/7TUh4%uY) 1

8 0690-960-011-3 74379373 1

>HE1E. FE2L8%FEL,
>HF2E. FBI~TEED,

_56_



12. Y—EREHCEDO )T HES &

RJ705-G

qE EBEmaI—F BB Fh B B &= /N5E B
1 0690-732-014-0 FI4M17RT7—(78XM14) 1 P30

2 0690-732-300-0 +47(RJ/M16)SET 1 P30

3 0690-732-310-0 F47K WMRJI/M16)SET 1 P30

4 0690-730-012-0 T47(RJ) 4 P30

5 0690-732-015-0 n=rnoyyFyMM16) 2 P30

6 0690-712-012-0 790+yMM20X1.5/494) M20X1.5 1 P28

7 0690-712-011-0 # IWMM14X1.5X40) 2 P28

8 2724908 VALY 1 IV URRES
9 394018S I79)—+=h—h)yy 1 LY VERREBE S
10 842921 240 5— 1 IYURRES
11 792015 AN=9754" CHAMPION-XCO2vC 2 IVY VENRE=
12 845125 PRF 2409~ 1 IV UEBRES
13 0690-430-011-3 LS CPAOVIEY) 1 P10

14 0347-510-012-0 17~ ILMSB32HP4) SB32(REC-HP4) 1 P13

15 0690-510-014-0 VA'JLMB-51)W800 1 P12

16 0690-710-012-0 VA'ILMB-38)W800 1 P29

17 0453-455-011-2 NyTY34A(G) 34A19R 1 P18

18 0690-430-013-0 F2137k—A(495) 1 P11

19 0690-430-014-0 F#21)37k—2A(440) 1 P11

20 0630-530-012-0 hv87’ L—%a— 1 P30

21 0690-120-011-0 :28 HKMIA7 Byh 2 P3

22 0690-350-011-0 40—75(150X60X43) 2 P6

23 0690-410-011-0 r=7" I (A0y ML) 1 P7

24 0690-710-016-0 F=7" LB 79F) 1 P29

25 0690-720-012-0 =7 MhIn7’L—%) 1 P30

26 0690-740-200-3 :28 h)nin'—A—ACOMP 1 P31

27 0690-740-230-4 :28 H'—FA—Z(R)COMP 1 P31

28 0690-741-210-0 :28 f'—FA'—2703(F)COMP 1 P31

29 0690-740-240-0 :28 H'—}F(3.2/L)COMP 8 P31

30 0690-740-250-0 :28 #'—}(3.2/R)COMP 7 P31

31 0690-740-011-0 E°V(10X725) 1 P31

32 0690-741-013-0 E°v(10X657) 1 P31

33 0690-740-014-1 EH R’y L(186) 1 P31

34 0690-741-011-0 EH4 kY3 L703(F) 1 P31

35 0690-740-021-1 :28 AYnhn'—(L) 1 P31

36 0690-741-015-0 :28 hYnhn'—703(R) 1 P31

37 0690-893-011-0 T LM /L) 1 P34

38 0690-893-013-1 TLHAN/R) 1 P35

39 0690-893-022-0 WA@Y 1 P36

40 0690-893-018-0 nWQRY! 1 P37

41 0690-893-021-0 1L —-/Ha-7) 2 P41

42 0690-660-012-0 70K AN - 1 P21

43 0690-660-011-0 P9IV IR FLUY) 1 P21

44 BA0142 NYTJHT5F1800B EASUMEASET 1 70k E{EHES
45  9M99202902 TUTT 1 7R EEHER &S
46 BT2280 biv—ayh EAFUESET 1 70REEHENS
46  9M20A03301 £ ESS HBC-3A(4) 1 7R EEHER &S

_57_



12. Y—EXER(FD1)ELEHFFEERHW)

RJ705-WG

qE EBEmaI—F BB Fh B B &= /N5E B
1 0690-732-014-0 FI4M17RT7—(78XM14) 1 P30

2 0690-732-300-0 +47(RJ/M16)SET 1 P30

3 0690-732-310-0 F47K WMRJI/M16)SET 1 P30

4 0690-730-012-0 T47(RJ) 4 P30

5 0690-732-015-0 n=rnoyyFyMM16) 2 P30

6 0690-712-012-0 748+yMM20X1.5/49%) M20X1.5 1 P28

7 0690-712-011-0 ' ILMM14X1.5X40) 2 P28

8 2724908 VALY 1 IV URRES
9 394018S I79)—+=h—h)yy 1 LY VERREBE S
10 842921 240 5— 1 IYURRES
11 792015 AN=9754" CHAMPION-XCO2vC 2 IVY VENRE=
12 845125 PRF 2409~ 1 IV UEBRES
13 0690-430-011-3 LS CPAOVIEY) 1 P10

14 0347-510-012-0 17~ ILMSB32HP4) SB32(REC-HP4) 1 P13

15 0690-510-014-0 VA'LMB-51)W800 1 P12

16 0690-710-012-0 VA'ILMB-38)W800 1 P29

17 0453-455-011-2 NYT34A(G) 34A19R 1 P18

18 0690-430-013-0 F2137k—A(495) 1 P11

19 0690-430-014-0 F#21)37k—2A(440) 1 P11

20 0630-530-012-0 hv87’ L—%a— 1 P30

21 0690-120-011-0 :28 HKMIA7 Byh 2 P3

22 0690-350-011-0 7a—-7(150X60X43) 2 P6

23 0690-410-011-0 r=7" I (A0y ML) 1 P7

24 0690-710-016-0 F=7" LB 79F) 1 P29

25 0690-720-012-0 =7 MhIn7’L—%) 1 P30

26 0690-740-200-3 :28 h)nin'—A—ACOMP 1 P31

27 0690-740-230-4 :28 H'—FA'—Z(R)ICOMP 1 P31

28 0690-741-210-0 :28 f'—FA'—2703(F)COMP 1 P31

29 0690-740-240-0 :28 H'—}F(3.2/L)COMP 8 P31

30 0690-740-250-0 :28 #'—}(3.2/R)COMP 7 P31

31 0690-740-011-0 E'v(10X725) 1 P31

32 0690-741-013-0 £°v(10X657) 1 P31

33 0690-740-014-1 EH R’y L(186) 1 P31

34 0690-741-011-0 EH4 kY3 L703(F) 1 P31

35 0690-740-021-1 :28 AYnhn'—(L) 1 P31

36 0690-741-015-0 :28 hYnhn'—703(R) 1 P31

37 0690-893-011-0 T LM /L) 1 P34

38 0690-893-013-1 TLHAN/R) 1 P35

39 0690-893-022-0 W@ V]S 1 P36

40 0690-893-018-0 LMY 1 P37

41 0690-893-021-0 T AN —=/HB-3) 2 P41

42 0690-660-011-0 79IV IR FLUY) 1 P21

43 BA0135 NYTIFT2F2100BV2 1 70K EEHER M
44 9M99707101 TUTT 1 7R EEHEER MR
45  9M20A04503 E LBC-34D P 1 7R EEHE &S

_58_



12. Y—EREBER(ZEDDATL-EH

2 3
27 L—(BE4E) A7 V==Y 2byk) AT L=(3=#KI4H)
FE5  EH&a—FK EREm A T B2 g & /NFEE
1 1300-977-002-0 A7 V—(BE4E) 1 Bf4E
2 0776-771-011-0 A7 L—=Ub—Y"1by) 1 =Y abyh
3 S550-110-000-0 A7 L—(Hv—HK74b)

1 $v—ik74b

_59_



12. —

EXER(ZDI)EFEE

BRKSY REfEL

AAYTF 1R

LEDELES VT

2:F LT
CN13 CN14

Ny TUERER

1 2
5 CN19 CN2

%4l 7

JaN

3 4 5
O CN21 CN22 CN23

L

%l

JAN

JH—
CN18

e K507

(RIZEY &)

CN27

CN28

o i

1

Bl

N

i

” 37

(9]
z

I hkA—3ASSY

IS S
Zn

o)

N

e

ECU
EELs

(9]
o

Slwl|ofnfro|ofoof | s ofw)

.uhlféﬁ *WEM%#*%‘MI

T4
R YT

&)
o
>

10A

o

12V
NyTY

ET
N7
CN2

(Tt
N
o

0 hﬂu@#mlo

©

N
o)

N
oZ
-U_l

\Alm N|4|© olo]o ~o

|o)

s JHMIM EEI%&# Ek]ml-i‘ﬂ

"

z b

11

(&) [ B

»]| =] o) o|d|ofojafrfol

S5 Sty i

I

g

]
N
o]

% JuMI%W

O]
Z|
N
o))

b#momlb

o
2
=

5V
3
= 3 VIN

i 8

Q0o

L

= {SV

VIN2
GND

E

=)
=
=1

VI

L

VR

Qoo
F-

a3

BEOULY AT YF)

BHOULY NESHE)

BH VY (T OUERD

CN29

100A

®

CN2

100A

CN

F

EfTNVTY

Ll

FILEF—4

z

CN31

RX—pT+ >
BIERYI R

BERY 1
(FLsh—

_60_

HET

EET

|

CN33

80 AR @

TIA=%
“ZELEDS
BE2LED4
“ZELEDS
BELED2
%2LED1

12V

"#IVT

TLoY (#®) 507
f?/?

ER
FT—bFa—ou8
*—bFa—o8
GND
AL

79— -

TH¥— (+)
AANS2T (+)
ANV T (—)
M— (MHY v F)
M+ (MHYZ5vF)
5V MAYSYF)
VINT WA S vF)
GND WMHIYFvF)
LSWi1 (MHAYFvF)
COM (MHYZvF)
LSW2 (MAY S vF)
)

R
TG F7—5RE




EST S}

ENSZREL. REARET D

M\ 2T v IR

FREmumARIL1TH2 -5
T E L (089)924-7161 ({%)
T E L (089)924-7162 (& ¥ E )
ATRREERIEGOE 2 E 1 -1 4
TE L (0198)29-6322 ({%)
RIS AR AR T ot 5EAG 6 6 3 3
T E L (0280)84-4231 (f%)
I IR RHE T AS 5 THL 28
T E L (0584)89-8141 (f%)
ERERILTARILLITH2 -5
T E L (089)924-7162 (f%)
REAR G ER G IGIT KR Ak1 156 —1 7
T E L (096)292-3076 (fX)
EIg RAN LT B ARHT 8 9 9 — 6
T E L (089)979-5910 (fX)

T 791-8524

F A X (089)925-0771

T 025-0301

F A X (0198)29-6323

T 306-0313

F A X (0280)84-4233

T503-0931

F A X (0584)89-8155

T 791-8524

F A X (089)925-0771

T 869-1102

F A X (096)292-3423

T 799-2655

F A X (089)979-5950



